No. 1
I -H#E R g = RETHE| HEM k=
<tI>
3.00 + 290+ 1.80+ 0.90%x 400 = 11.30 11.3 11
RiEY /NiEAE  BHO. 28m3 m3
150 + 1.20+ 0.60+ 0.50* 400 = 5.30 5.3 5 AL
HBEREL /N3REE  BHO. 28m3 m3
33.60 + 103.80 + 36.10 = 173.50 173.5 174 AL
PRAK (BEIR) BT 2. 5mLA _E4. Om=K i m3 AL
33.60 -( 0.90% 0.90-  0.50)% 2.00 = 32.98 33.0 33 FDITR
Bt AL m3
103.80 -(  0.90* 0.90-  0.50)% 2.00 = 103.18 103. 2 103 FN2IRX
Bt AL m3
36.10 -(( 3.00+ 290+  1.80)* 0.90-( 1.50+ 1.20 32.5 33 FNITRX
Bt AL + 0.60 )= 32.47 m3
<#EBEHMI>
5.00 5.0 5.0 FNITRX
KEERT PU3 3000 m
1.00 1.0 1 FNITRX
HOT 18-8-40BB =
1.00 1.0 1 FNITRX
BEmary')— kI |18-8-40BB =
1.00 1.0 1 FNITRX
NSy hT 500%1000 =
4.00 4.0 4 FDITR
AREEEEEAKT ARBEHKER DT Y b BT [ZD2TRX




KR T

ZFMD3IKX PU3 300C 10m% L)
T 78 ] ES B fi B
ERAAGE
300 10.00 / 2= 1@ 5.0
BE)JLERIL
1:03 034 * 003 * 10 = 0.10 m3 0.1
EMBa
RC-40 054 * 015 * 1000 * 120 = 097 m3 1.0
TJL—FU5%&
300%1000 1000 / 100 = 10 ® 10.0
0T
__ZMO3IK 12 G724
I 7B 1 S B 7 2| EE
:s/gla_'\
18-8-40BB |( 020 + 041 )/ 200 * 070 *( 175 + 065 )+ 1.00
x 010 = 061
INEVER E| 1
m3 0.6 5
Eilp 2
INEY ( 020+ 041 )/ 200 * 070 * 200 + 010 * 200
+ 070 + 073 (175 + 065 )= 406
m 41
HIERA t=150
RC-40 051 *( 185 + 075 )+ 100 + 010 * 200 = 253 m 25




BmEmav9)—kT

FMD3IX 1R &Y
L i ] = ER E
avh—F INEVER EIE
18-8-40BB |[( 050 + 305 )* 250 / 200 * 200 * 015 1.33 | m3 13
BEEHE
#E150%150 6| ( 040 + 295 )* 240 / 200 * 200 = 804 m 8.0
R
L ( 250 + 050 + 305 )¥200 * 015 = 1.82 m 18
NI VvhI
ZFMND3TX 500%1000 BT =)
I iz = EN R =| EE
M vk
CH! 050 * 200 * 2000 = 200 m2 2.0
mTuk
2503 o-a 5 ER 200 * 200 = 400 m 40
EIER
15~20cm 200 % 050 * 100 * 200 * 109 * 090 1.96 | m3 2.0
% LRS IE 44
t=10 FiHAM[(( 100 + 050 200 * 200 +
100 * 050 * 400 )* 116 = 9.28 m2 9.3 | 10kgf/5¢m




AREFREBEKT

TDIIRXR-ZEM2ITRX

SR

I s " = B )% 2| #E
REBEHKEM
YAMI-R H%ﬁ A347" 400%! 1.00 % 1.0
bt ] 8
QEE 050 * 200 = 1.00 m2 1.0
MNTTybk
AR c-a 5P HE 2.00 m 20
e
15~20cm 200 * 050 *x 100 *x 1.09 * 0.90 = 0.98 m3 1.0
T HH LR L 44
t=10 EHmAH|(( 1.00 + 0.50 )* 200 +
100 * 050 * 200 )*x 116 = 4.64 m2 4.6 | 10kgf/5cm
IwE " = B )% 2| #E




# = H B
FDITRX No
Bt
p: I XMEEM | Brm | B | 32 B | Wm|E|FEH| I Brm | F 8 | i Brm | F 8§ | i
W m W m W m W m
No.0 0.0
+ 0.00
No.1 0.3 0.15 3.0
+ 0.00 20.00
No.2 0.2 0.25 5.0
+ 0.00 20.00
No.3 0.4 0.30 6.0
+ 0.00 20.00
No.3 0.7 0.55 9.9
+ 18.00 18.00
No.3 1.2
+ 18.00 0.00
No.4 0.5 0.85 7.7
+ 7.00 9.00
No.4 0.3
+ 7.00 0.00
No.5 0.0 0.15 2.0
+ 0.30 13.30
100.3 33.6

op




ZTMD2TX No. 2
Bt
p: I XMREEM |8 8 | FBH | F B | E|FH| F BE|R®BE|FEFH| F BE|EBE|FBH| F B
g 8 g 8 g 8 g 8
No.0 0.00
+ 0.00
No.0 1.50 0.75 13.5
+ 18.00 18.00
No.1 1.20 1.35 2.7
+ 0.00 2.00
No.1 0.40 0.80 8.0
10.00 10.00
No.2 0.60 0.50 5.0
+ 0.00 10.00
No.3 0.50 0.55 11.0
+ 0.00 20.00
No.3 0.50 0.50 5.0
+10.00 10.00
No.4 1.00 0.75 7.5
+ 0.00 10.00
No.5 0.80 0.90 18.0
+ 0.00 20.00
No.6 0.80 0.80 16.0
+ 0.00 20.00
No.7 0.60 0.70 14.0
+ 0.00 20.00
No.7 0.00 0.30 3.1
+10.40 10.40
150.4 103.8
= B




# = F g B
FNITRX No. 3
=t
B o= XMEHE | g & | FBH | F BE|wRBE|FEFH| F BT|RBE|EFH|FEF B|RME|FH| F E
g 8 e 8 g 8 e 8
No.O 0.00
+ 0.00
No.O 0.80 0.40 4.0
+ 10.00 10.00
No.1 1.10 0.95 9.5
+ 0.00 10.00
No.1 0.90 1.00 14
1.40 1.40
No.1 0.60
1.40 0.00
No.1 1.10 0.85 3.7
+ 5.70 4.30
No.1 1.50
+ 5.70 0.00
No.1 2.00 1.75 75
+ 10.00 4.30
No.2 0.10 1.05 10.5
+ 0.00 10.00
JKERER 3.57(L)*0.52(w)*0.25(H)
-0.5
40.0 36.1
= B




